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No. of Questions : 120

. geiiEtEeIr: 120
Time : 2 Hours - mﬁmhﬂ 360
T 2 W, - : yurfy : 360

Note : (1) Attemnpt ag many gquestions as you can. Each question carries 3
{Three) marlks. mmmt:mmwmmﬁw
answer. Zero. mark will be awarded for each unatt:emptsed

guestion. _
© aftesien Gt A w W &7 ST BE | el et 8 (9)
aﬁﬂ?ﬁt%lmmme}mwwmqﬁﬂr
| R ST N W WwiE g er
(2} If more thax ope alternative answers sﬁcmtﬂbeappmmmabetu

the mrmt swer, choose the closest one.
IuT G Ut B Frpe udio 8, a Fereaw
Hﬁ’rw

Directions {W Number 1 to 8) : Read the following information -
carefully and Hmswer the questions given below., ,

iy (mer dsm 1@ 5 ﬁﬁﬁ%ﬂﬂﬂﬂﬂﬂiﬁﬂﬁgﬁaﬁqﬁq
ey, o A

(il A family consists of six members namely, A, B.C,DEEndF
wF aRay & o weer ¥ RE@ AR AB,CDE ai’rw%l _
{ii) B is the brother-in-law of Cls mathnr
B,C Fil |l &1 3| B T-—.
fifi) C is thie distér of F.
© CF # e B
{w}Dmﬂxﬁith&rn’anndFlsﬂmgmndsnnﬁfD
DA # Rar & ARFD 7 9w ¥4
{v] There are two femplesnembers in the family.
gREr § @ often 959 &)

3 B.T.0,
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O1.

02.

03.

05.

Who 1s rnother of F ?

(1) B 2) E

(3) A ; (4) Cannct be determined
Fat Hf &9 & 7

(1) B (2) E

(3) A (4) Taifta. =2 B o |

Which of the following pair represents the female members in the
family ?

(1) CandE (2) BandC

(3) CandD (4] Cannot be determined
Prer & & & @1 g oRer & afeen axal 1 sfaffe s e v
(1) ¢ dXE 2) BefiwC

(3) C ehT D (9) Tredf = Remm s gemay
The members of the family belong to how many generations ?

(1} Four (2) Two

(31 Three . [4) Either two or three

ofaR 3 oom BRa dRdEl § gw=ifvg g 7

(1) =T (2) =

(3) &+ (4) aw T AT A

D has two sons. One is A and other is:

DA E 7w AL SR T Y
(1] E @ C (3} B 4] F

Who is the uncle of F ?

F &l 9 ®E e 7
(1) B 2) A 3] D 4) C
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. Directions (Question Number 6 to 9) : In each of the following questions,
four words have been given out of which three are alike in same
manner, while the fourth one is different. Choose out the different
OIeE.

ﬁiﬂ(ﬂﬁmaﬁg} #ﬁﬁqmnﬁaﬁﬁﬁﬁmwﬁw
%Wﬁmmmﬁm%mﬁmﬁﬁﬁﬁh
BT W sHE SR )

06. Choose the: different words from the folowing :

(1) Lion (2) Bear - (3) Tiger -  (4) Leopard

1 & 9 B o= 7 @hifSie $ ‘

(1) A (@) g (3) = (4} dgem
 07. Choose the different words from the following : _

(1) Chilli () Tomato = (8) Potato (4) Brinjal

Frer f @ Risr oo e 9P

(1) P @ T () g @)
08. Choose the different wurd; from the following - |

{1) Sweater (2) shirt (8) Trouser (4) dJacket

frr F @ Ry o= s @i - -

(1) €. @ W @ W @) e
09. Choose the dlffm'ent words from the following:

(1) Bgﬂ ' (2) Truck - {3} Cycle {4) Scooter

Prer % § = o= o BT ¢

(1) &= 2 TF @ wERr (4 w®ee

5 - P.T.0.
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Directions (Question Number 10 to 14} : Read the following information

carefully and answer the questions given below :

fReer (a7 _dear 109 14) ¢ ﬁ%frnﬂ?wﬁaﬁmﬁgﬁmqﬁ@r

e R T a8 SR

AB,C,XY and Z are seated in a straight line facing north. C is third
to the right of Z and B sits second to the right of C. X sils to the
immediate right of A.

' %BG%X?W.a?ﬂﬁagcagmwﬁﬁrwff%%%m?

10.

11,

12.

13.

B.C & sH I U7 EIX, A
%Qﬂﬁqtﬂﬁ

Which of the fGllﬂwing represents the pair of. persons sitting exactly
in the middle of the line ?

ﬁﬁﬁﬁﬁﬁmwﬁmqmﬁ?{ﬂﬁa%?

(1} XB (2) ZB (3) BX ) Xc
What is X’s position with respectto Z ?

(1] Immediate right to Z {2} Second to the left

(3) Third te the right (4} Third to the left

2% WY A X& WHE B e

(1) 2% St afe (2) s 8 gEq

(3) =& | drERT (4) ad & dEq

Three of following four are alike in a certain way based on their sitting
position in the above arrangement and so form a group. Which is the
one that does not belong to the group ?

:ﬂ%ﬁ'&wﬁ@rﬁfﬁ%?ﬂ:} TUT & Haten § HH o B WH
%Wﬁ%ﬁrﬁﬁﬁ > & T B 2 gar o |HE a9 © | B
¥ o |1 38 gyg H e ST B

(1) ZA 2) XC (3) CY (4) XA
How many persons are seated between AancC?

(1) One (2} Two (3) Three (4) Four
ATRTC & e & Bras @ 39 ¥ 7

(1) o @) X @ (4) =
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14, fA: Xand Z: A, thenY ; ??
AEA:X THZ: AR THY: PP |
[ 2 2 B 3 C [4) X

Directions (Question Namber 18t 19) : In each of thefollovdngquestions,
four pairs of words are.given out of which the words in thied pairs bear a
certain comumpn relationslip. The fourth pair is différent. Clicose the
pairs in which the words are é:ﬂ.‘e:rently related :

AT I T A E TES

15. Chdose the pair which is différent in relation:

(1) -smell: nose (2) hear : ears

(3} tongue : taste (4) see : eye

P e A g @ ghie

(1) G : O @ g

(3) oW : W W 4) . @ : Sife
16. Choose the pa:rwhﬁamd:ﬂ'ermtm relation ;

(1} petrel ; car - (2) ink: pen

(3) garbage : dustbin {4) lead : penecil

=T o a8 W @ g |

(1) ¥ R L @ wmd

(3} ==Y : g (4} @ Ofem
17. Choose ﬁzﬁpmrwhinh is mmmmlamn

(1) ~ hard : soft (2] long : high

(3) sweet: sour (4) pointed : blunt

T deed o g @ gied

(1) #3IT : gamy = (@) =T F=y

@) T wEH . 9 g gew.

P.T.0.
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18.

19,

Choose the pair which is different in relation :

(1) shirt : dress {2) boy : girl

{3) mango : fruit (4) table : furniture
o= dery a3 s g

(1) T 2§ (2) TSH : ASH
(3) W : B (4) BT : BARR
Choose the pair which is different in relation :

(1) book : page (2] table : drawer
{3) loom : cloth (4} car : wheel

20.

21.

(1) fraa O (2) AN : T
(3) I : IS (4) WIT : afea

In a certain code language BROTHER is written as BEHORRT and
DEFINITE is written as DEEFIINT, how will INDICATE be written in

that code language ?

e Fifyer e AT 7 BROTHER %I BEHORRT & &9 # foran s
S o7 DEFINITE # DEEFINT & &1 Rrar o ¥, 39 e = H
INDICATE &8 Rrar @i =iféa ? ’

(1) CDEANITI (2) HACNDET
(3) ACDEIINT (4) IADNCTE!

In a certain code language MENTION is written as PHOWPRK. How
will NOURISH be written in that code language ?

e Fafyad e wmr 3 MENTION I PHOWPRK & &9 ¥ @ s
2139 g2 ST § NOURISH &8 Ry@r s ¢

(1) WRPUJVK (2) QQXTLUK
(3) PRWUKWJ (4) JVKWRPU
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23.
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Four of the following five, are alike in a certain way and hence form a
group. Which one of the following does ngt belong to that group ?

P g f § T ﬁﬁﬂﬁaﬂ%‘ﬂgm ¥ oftt zoi o
(1) KOSTW  (2) GLOPU (3) DILMR, (4) PUXYD
What will come in the place of question-mark (7) in the following
series ? - -

Frefifem sfeer # w1 frw (7) @ w9 9 | enden 7

{1y LOoN. - (2) LOQ (3] LOM {4) LOR

« Arjun started from a pdint A towards south gnd traveiléd 5. Km. Then
‘he tursellright and trgvefled & Kng. theribevarried vight and travelled

5 Km. then tura Teft and travelled 5 Km. How far was he from the
point A 7 . ~
(1) 58m- (2 15km (3) Tkm (4) 17 km

ﬁﬁ;;& aﬁmwgﬁ R ofe 5 Rt W g

B Al qn 2 HE R ofi 2 Rell, 1 aen ) et 08
DA e b A N Nl i Ty
EMﬁm&w %) o g a %mgﬁ% g
(1} S@. 2 15t (3 7RRR. . @) 17 R

A person walks 1 mile to west, turns left and walks 1 mile and ttirns
left and walks 1 mile and again turns left and walks one mile. Which

(1) Seuth (2 'North  (3) West  (4) East

% v ot F 130 o o ¥, S axs gean 8 o 1 e

s 8 e 4 o e € ol 1ofvr R § O g A o

o,

P.‘TIOI
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Directions (Question Number 26 to 30) : The findings of a survey into

how people travel to work (presented as both a bar and a pie chart)
are shown below.

P (991 der 26 @ 30) : U GI&91 & Ui % @R R g
. A v B oA ¥ (T A g AR =9E SEl a9t ¥ 9R)
S A" Tatar =@ ¥

Note : ‘
1 in 8 the people who cycled to work were found to be over 65 years of
age.

1 in 3 of the cyclists stated that they travelled to work by bus on rainy
- days. .

=
Bmﬁﬁlﬁﬁﬂﬁﬁiﬁﬁmﬁm—waﬁﬁﬁ%%ﬁﬁ
3 & I T
?m@?;ﬁﬁﬂ Iwﬁﬁﬁm%mﬁ%mﬁ%ﬁﬁﬁ%w%

apq e & I ¥

10



26.

27.

29.

17P/291/26 (i)

How many more respondents indicated that they walked to work
rather than traveled by bus ?

Rt AR SaRaTTelt X ST B wE @ G A % W 3 arad
Pr-ww & R Ym0

[1} 55 @ 3 - (3 20 (@) i*s.:

memhmﬁﬂmmcychdmﬂrkmpﬁmﬂ
with those whoﬁawﬂadhyatﬂmrbusur car ? .

Rt ol o ."""%mmﬁs&wmmﬁwwm'
o gorar I e @ o B W ?

(1) 72 2 38 -3 .13 {.4_1, 16

. - How tniny degrees ufarcmthcpmchaﬂmp:csmtaaﬁhmpunwm

thesuweymmults’?
maﬁ%mﬁmmmﬁmmﬁmwmm

1‘1-1 8 (@ e (3) 4 (4) 20
Which of the ﬁaﬂmung best fepresents the r&th of responacs between
car-and gycle ?

Mﬁ%ﬁwmmmmm%mm
waihes SRR s 27 =

(1) 1_6 . @ 15 (3) 14 4) 1:3

:fhatﬁmtammnste]mlympreaentsﬂmseg:mntafﬂmpue labeled
us ¥

?ﬁﬁﬁﬁqﬁﬁmﬁiﬂw%wﬁmﬁﬁ T § autd
n 1z (ppogd 3) 13-5 J 4) 176 -

-, 11 : P.1.0.
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Directions {Question Number 31 to 35) : Study the following table and

answer the guestions given beilow it :

IREL] ‘ :
ﬁgﬂ%ﬂ%% %ﬁ%mﬁ?ﬁﬁﬁﬁ GRU W Hemae Fwg oo

31.

32.

33.

34.

PRODUCTION UNITS

Months A B C D E F

April a10 180 169 137 140 120
May 318 179 177 162 140 122
June 320 180 188 173 135 130
July 326 167 187 180 146 130

August- 327 150 185 178 145 128

In which month the unit B has a contribution of approximately 15%
in the total sugar production ?

{1) August {2} June (3) July (4) April
ﬁﬂ%ﬁmﬂﬁﬁiﬁﬁwﬁww%ﬁmﬂﬁm ?
(1) smed 2) oI (3) ges (4) T

Which of the following units shows continuous increase in production
of sugar over months ?

Prer 7 2 B s 3 a0 wEAT ¥ 960 S P o s ?
() A (2} B (3) -C (4) D

In case of unit E, in which of the following pairs of months the production
of sugar was equal ?

(1)  April and June (2] June and July

(3) July and August (4) April and May

o & i gl § 8 G e B @ HH IeeT FUe o ¢
(1) I 3T A (2) Eﬁ&-ﬂ? ST

(3) g AR R (4) o W

In the month of June, how many units have a share of more than
25% of the total production of sugar ?

(1) One (2) Three (3) Two (4) Four
wmﬁ,g&%ﬁﬁmﬁﬁﬁ?ﬁw@wﬁwzm a
aAfees & 7

(1) @ @@ @R (4] B

12
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35. What was approximate percentage decrease in sugar production of -
unit B in June as compared to April ?

o B ga &, wﬂmﬁa%?ﬁiﬁwﬁﬁsﬂ?wwﬁmﬂ
TR e | ?

(1} 8% @ 1!:1% (31 15% @) 18%
Directions (Questicn Numbés 36 to 40) : Study the following graph
carefully and answer the questions given below :
P (7 Wew 36} 40) : Rrafifd YaRe w1 aEEigEs

Production of three types of vehicles by & company over the years {in
thousand)

&
o

&
> \

Ntimiber of Vechicles

© P0,
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36.

37.

38.

39.

What was the percentage increase in the production of C type
vehicles from 1985 to 1986 ?

(1) 10 2) 5

(3 20 | {4) None of thesc

198;1% 1986 o C WehIT & Qredl @ Icre | gie = qider a37
oF T

(1) 10 (2) 5

(3) 20 - (4) FTH ¥ Fg el

The number of A type vehicles produced in 1986 was what percent of
the number C type vehicles produced in 1988 ?

1986ﬁantﬁr<%a|€ﬁaﬂg%3;m¢r 1;;33frcm$afa:ﬁ%
IEA Hmraﬁrﬁmﬂt IR
(1} 331% (2) 663 (3] 50 (4) 15

In how many years was the production of A type vehicles less than its
average production over the given years ?

Prad st 7 A TR & Gt @ IdEd Ru W adt & ofigd Jeue
e a7 |
1y 2 (2) 4 3 3 . (4) 1

What was average number of B type vehicles produced by the
company over the years ?

ﬁﬂgﬂﬁﬁmﬁmwﬁﬁBméﬁa@aﬁaﬁﬁam
Erilg ¥
(1} 20,000 (2) 25,000 (3) 15,000 (4) 30,000

In which of the following years was the total production of all the
three types of vehicles 60,000 ?

Prer & F Prg ad # w7 g B qiEl T OHF SEET 60,000
qr 7 -
(1) 1985 (2) 1986 (3) 1987 (4) 1988

14
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41. 462 people were ‘asked to identify their favourite colour, food and
city. 420 responded, with 120 indicating red, 300 curry and 21
Bangluru. What fraction gave the response Bmgturu ?

452@(____: A, @, mméﬂﬁﬁ?wn

42{:-*-‘% wfeifaem & 130%% 300
aarémwmﬁ
{11 2z Ial IIEB 8 110 4) 1f5

Directions mnmﬁnn nm 42 to 47) : Read the following passage
. carcfiilly and answer the questions-according to the contents of the
passage.

m{mﬂﬁm%m ﬁwmqﬁ@ﬁmaﬁtﬂﬁﬁ
!#%@ﬂ |

James Madison said, * &pwylewhumeanmbethwmmmm
muatm@amsﬂmmmthmknm&mge gives.” In Indig; the
Official. Secrets Act, 1923 was a convenient smokescreer! to deﬁy
mﬁmbﬂmﬂfﬂmmmlmmmm&armaﬁun Public fur :
traditionally been: shreuded in secrecy. Emmademecracymm
peaple wﬁsm themselves, it is necessary to have more opermess. In
the. riatirin ofm:lr_ mocracy, right to.information is & major step
forwerd; it eniables ci o partict Tty i the declsion-maling
process thiit pffects tHeTT lives so pmfaundly It is in this context that
ﬂltlt address of the Prime Minister in the Lok Sabha is significant. He
. said, *Iwml&ml;‘rhkstp see that everyone, particularly our civil
servants, shduld see the Bill in a positive spirit: not as a draconian
1aw fampaml}rﬁug Governmient, but as’ an instrument for i unpmﬁng
Governmeny ﬂﬂmmﬂﬁmmm*. maﬁm-u --
b : fmctimfng i of our Peaple' He
further said, « This is.an innovative Blll where there will be scope to
review its functioning as we gain experience. Therefore, this is a piece
ﬂl@ﬂﬁm_ﬁmmwhﬂk@tmmm'
Ac LOMBSEIoN, in. ity Report, has dealt with the: application of the
ght to: Infmm;mn in Executive, Legislature and. Judiciary. The
Juaiciary eould be a pioneer in lementin thcﬁw.
mrﬁhmmmuuhofmcwki?h?atﬂg- 5 .tmlﬂftcrand

- .

15
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42.

43.

44,

45.

public scrutiny, Government of India has sanctioned an &gﬂ?ﬂfﬂﬂﬂce
project in the Judiciary for about 700 creres which would bring about
systematic classification, standardization and categorization of records.
This would help the judiciary to fulfill its mandate under the Act.
Similar capacity building would be required in all other public
authorities. The transformation from nontransparency to transparency
and public accountability is the respansibility of all three organs of
State,

A person gets power :

(1} by acquiring knowledge

(2) from the Official Secrets Act, 1923
(3} through openings

(4) by denying public information

Right to Information is a major step forward to :

{1} Enable citizens to participate fully in the decision making process
(2] To make the people aware of the Act

(3) To gain knﬂwleldge of administration

(4] To make the people government griendly

The Prime Minister considered the Bill :

(1) To provide power to the civil sérvants

[2) As an instrument for improving government-citizen interface
resulting in a friendly, caring and effective government

(3) A draconian law against the officials

(4) To check the harassment of the people

The Commission made the Bill effective by :

(1) Extending power to the executive authorities

(2) Combining the executive and legislative power |

(3) Recognizing Judiciary 2 pioneer in implementing the act in
letter and spirit . -

(4) Educating the people before its implementation

16
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46. The Prime Minister considered the Bill innovative and hoped that :
(1} It could be reviewed based on the experience gameci on its
functioning, )
(2) The civil servants would see the Bill in a positive. spirit

{3) Itwnuiﬂmtbemaﬂerﬂdasadmmiﬁanhwfwmlyﬁng
CGovermment

(4) Allof the sbave

47. The transparveticy and public nﬂnﬂuntabﬁtty is the responsibility of
three organs 6f the State, Three organs are |
(1) Lok Sabha, Rijya Sabha and Judiciary
- :__'Sahha&ndﬂmﬂuﬁw i
ug‘mﬂm |

and the Commission

tIn eachof the foﬁuwmg 28Lions,
similar relatior while

48. (1) bool : thesaurys. -

(2) sweets: rg.sm:l]ﬁ ' ‘
(3} reptile : python
(4) meedle : thread
* 49, (1) sun : heat
(2) cloud : rain
(3) atmosphere : humidity.
{4} fruit: vitamin e
iy -
50. (1) king: prince —~— -
@) dog: pup o w_gi n il
[3] tgﬂr tﬂﬁ o ___,-_m ’ _f__':i-':f:r:ﬂij-'re}--:{-. IS
C@estighick T i C
e R ' o : B '_ J#H
B A 1:11'1' TT.0.
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51. (1} plague : typhoid

(2) artery : blood
(3) rose : marigold
(4) clove : cardamom

Directions (Question Number 52 to 56} : Read the following passage

carefully and answer the questions according to the contents of the
passage. WeoH @

Fider (99 dear 52§ 56) : Frefviag oiede & =mgds wieg o

52.

9 P G qfi=ms # aifa aelt & e av S

Crude mineral oil comes out of the earth as a thick brown or biack
liquid with a strong smell. It is a complex mixture of many different
substances, each with its own individual qualities. Most of them are
combinations of hydrogen and carbon in varying preportions. Such
hydrocarbons are also found in other forms such as bitumen, asphalt
and natural gas. Mineral oil originates from the carcasses of tiny
animals and from plants that live in the sea. Over millions of years,
these dead creatures from large deposits under sea-bed and ocean
currents cover them with a blanket of sand and slit. As this material
hardens, it becomes sedimentary rocks and effectively shuts out the
oxygen, so preventing the complete decomposition of the marine
deposits underneath. The layers of sedimentary rocks become thicker
and heavier. Their pressure produces heat, which transforms the tiny
carcasses into crude oil in a process that is still going on today.

Marine deposits under the sea do not get decomposed because they :
(1) ‘Become rock and prevent oxygen from entering them

{2) Are covered by the sand and slit brought by the current

{3) Contain a mixture of hydrogen and carbon

(4) Are constantly washed by the ocean current

18
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B5.

5.61

17P/291/26 {i)

Sedimentary rock leads to the fbrmatinn of oil deposits because :
(1) It becomes hard and forms into rocks which produce oil

{2) Its pressure produces heat and turns the deéposgits of animal
carcasses and plants into oil

(3) It trns heavy and shists out the oxygen . o
(4) It becomes heavy and hard, and applies pressures 1o squoeze oil

. In order to have mineral oil, hydrogen and carbon are emnh&niad in

(1} ‘Equal proportions {2) Fixed proportions

(3) Verying proportiont (4) The proportion of two and one
The time it takes for the ferine deposits to harden into rocks s :
(1} Adewyears ~ Thousands of years

(3} Hundreds of years - (4): "Millions of year

(2) How sedimentary ¥k is formed ?
(3) Howmiineral oil is formed ?
(4) Matine deposits under the sca

or 57 to 62): Choose the words that is opposite:

aning to the word given in capital lotters

Rar (T WO 57 62) + WB e e v o Pt g :

57.

58.

59.

ENORMOUS
(1) Tiny (@ Aversge (3} Soft (4) Weak

(1) Started () Agency (3} Of (4] Terrninated
CANDID R Py )
(1} Bluff (2 “Eequal (3) Devious (4) Blunt

19 " pro.
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60. ARTIFICIAL

61.

62,

{1) Natural (2) Solid (3) Truthful (4} humans
EXODUS |

(1} Return {2) Restoration

(3) Influx : (4} Home-coming

EXPAND

(1) Convert (2] Condense

(3) Congest . (4) Conclude

Directions tﬂ.:e;tion Number 63 to 67) : Choose the correct option to fill

in the

Frdar na?ﬂ%gaﬁw} R o A O $ R ad R

63. The voleanic ................. was the cause of great devastation,
(1} Outburst (2) Movement
(3} Erosion (4) Eruption

64. As a result of ............... many unsuitable candidates were selected
for the posts.
(1] Favoritism {2) Tolerence
(3) Humanity {4) Weakness

65. The attempt of the robbers was ............ . because the travelers showed
ennugh .

(1) Exccqswely ; repidly
(2) Averted ; farsight
(3) Foiled ; fortitude

{(4) checked ; foresight

66. [n a changing and ............... unstructured business envu‘unmcnt

creativity and innovation are being ..... demanded of executives.
(1) Progressively ; increasingly

(2) Increasingly ; repidly

(3) Highly ; extremely

(4} Quickly ; highiy

20
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Suman’s plea for ..... fell on deaf ears as her husband was not .....

‘enough to overlook her minor omission.

(1] Mercy ; kind

(2) Clemency ; gracious

(3) Forgiveness ; pardunable
(4) . Apology ; forgivable

ﬁ&sr@g;qmesam) o2 owrdl ¥ RY T w W T

68. CORPULENT |
(1) Lean (2) Gaunt

~ {8) Emancisted (4) Obese

69. ASCEND ' o
el {2) Grow
(3] Mount [4) Destdts

70. MENDACIOUS
(1) Palse T Ty
B Erdme i (4] Somewhat

Dircctions {Question Number 71 o 74) : Find the correctly speit words.
e (ger dear 718 74) : wdft owd o= w1 gam AR

71.

72“
73.

74,

(1) -percurser : () precurser

(8) precersur : (4) precursar
(1) simultancously - (2), simaltaneously
(3} smualtaneonsly (4} simailtenously
(1) antaganist _ _ _ [2} antigonist

(3} antagonist (4) antagoniest
(1). inflmable - '(2) enflamabie -
(3) ._-htﬂ_amablc (4) inflamable

21 " PT.0.
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78.

76.

77.

78.

in which country 2017 Olympics would winter games held ?

(1) Germany (2) Austria (3] Russia (4) France
e 391 # 2017 ol Rrea shereftr Qe 1 amdis gam ?
(1) ST 2) snfsr  (3) w9 (4) A

Which state was defeated by Tamil Nadu to win Vijavhazarc Trosh
2016-2017 7 b 1 e

(1} West Bengal (2) Kerela

(3} Uttar Pradesh (4) Maharashtra
%%%ﬁ—%%l';ﬁﬁﬁﬂﬁﬁﬂﬁﬁﬁﬁ%mmﬁﬁﬁwﬁ
(1) of¥eny &M@ (2) B (3) SET WY (4) HERE

Name the person who resigned from the post of Chairman of
International Cricket council (ICC}.

{1} N. Srinivasan . (2) S.Pawar

(3) J. Dalmia (4) Shashank Manohar
iﬁaﬁzqﬁgt . W. @) B ey 97 9 == 39 4

AT F0 AT /4T ?( ) :

(1) oA, HifEEe (2) & @R

(3) . swArET  (4) e wEE

The 2017 Egriculturc Science Fair held at :

(1) Agra -%(2} - -Bhopal (3] New Delhi (4) Jgipur

2017 H s Awr HE ST ga ¢
(1) e @) #er @) W R (4 TR

Which Indian Badminton player has been a]i:pnintccl a new member

of the governing body of Sports Authority of Indian (SAI) ?

(1) Prakash Padukone . (2) Jwala Gutta

[3) Sania Nehwal (4) Pullela Gopichand

B Jsfifes Raemst el mgmvm g fegice |0
& B AT G qﬂ% T ' ? ( )
(1) SRS TG (2) awN TEET -
(3) \fewr e 4 gewin
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Who has become the new Chief Minister of Uttarakhand ?
(1) Yogi Adityanath (2) Chitranjan Das
(3} Trivendra Singh Rawat  (4) B.C. Khandri
FOUEs B 9y gEmdl B a1 . P .

(1) ot ks @ PR 9@

(3) = RiE vew (4) 4. 4. d@

What is the India rask in the 2017 Human Developrisnt Index ?

81,
2&1?=mq¢:w§aaﬂmﬂ‘ e Y e T
:1} 138 (2. 181 (3) 136 L) 144
a:. %ﬂi ﬁgmiéﬂt hes laumhed a 24x7 toll free‘ he.lﬂine
{1| me : Hargm
O Qiska e B
%ﬂ; GRS, sheer S T i"h rﬁm
(1) IgL j'_ ) (2) sREW
(3) SERET 4 ‘iﬁﬂﬂ'ﬂ'ﬁr
83. wgkﬂmﬁ&ta@etmenthaslamebedmaﬁleaw Mmﬁmmffnr |
(1) ﬁm (2) Hi:mmhal&adeﬂh
(3) Dekhi {4),_Punjgb

%ﬂmﬁmmﬁﬁmm@“ﬁﬂwﬁw
(1) args (2) fewiemT By (3) Rl (4) g

. World AIDS day iscelebrated an :
(1} 1 October . . (2) 1 November
(3) 1 December ' {4) marm;a;y

B.T.0.
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qﬁm%aﬁﬁrrrfﬁ? qiSE H yEues wel Rud & 2
(1) 2) \
Bl el (4) W

86. 2018 Olympics will be organized by which country ?

(1) China (2) South Korea  (3) Brazil (4) Japan
2018 afiefiqeR @1 AN R & ERT fear oo P
(1) == (2) gy AR - (3) sehd (4) <9
87, When was the First International Yoga day celebrated ?
(I) 21 June 2015 (2} 21 June 2016
(3) 21 July 2015 (4] 20 July 2016
T SRS AT Ra9 w9 == T oan ?
(1) 219 2015 (2) 2197 2016
{3) 21 9@E 2015 (4) 20 e 2016
88. I[nstrument that is used to measure depth of ocean :
(I) Sonar (2} Radar
(3] Fathometer (4] Fluxmeter
g S HEMEFIR # e AR & fere wat fEm S 2o
(1) €= (2) WE
(3) ®EHREY L (4) ereRHIEY
89. On which day “Make in India” initiative was launched ?
(1} 20 August 2015 (2) 25 September 2015
(3) 25 September 2016 {4) 15 October 2016
P fes “Be g1 gfean” vew &1 Yoo B¢ At 7
(1) 20 STT&T 2015 (2) 25 fHEET 2015
(3) 25 REET 2016 (4) 15 FERET 2016
90. What is the unit of electric conductance ?
(1) Tesla (2) Volts (3] Watts (4) Siemens

(1) 2 2 are B) =@ (4) dra
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91. Convex type of lens is used to correct which type of eye problem ?
llﬂl”rl Myopia (2) Presbyopia
(3) H}rpermatmpia (4) Astigmatism -
ﬁ?&ﬂﬁmmﬁfmﬁmmﬁm
of ik |
(1) Prse gie O @) IraREfE :
(3) YRS (4) grEaT=R
92. Out of MHJJES launched by ISRO on February 2017, how many
were Indian ?
gwﬁ zai?ﬁ!ﬂ%mﬂéﬁﬂmwwﬂﬁﬁﬁmﬁﬂm
(1) 93 2) 23 (3. 3 (4) 25
93. 'In which of the following conditions can magnet lose its property ?
(1) Extrems heat (2) High pressure -
(3) Inside water | (4) Extréiné-cold .
ﬁmﬁﬂmmawmm@m%?
(1) owgRes Wt @ @t e
(3) Wl & ST (@) =W EE '
94. Which process helps thestar the produce constant enetgy ?
{1} nuclear fission (2) nuclear fusion
(3) mnuclear decay (4) nuclear emission
ﬂ?ﬁﬂ%ﬁ#ﬁﬁﬁtﬁ?ﬂﬁﬁﬁﬁmm%?
() g Reisa () T EEeE
(3) TNV W (4) verarE Srash
95. Which is the largest fesh water lake in India ?
(1) Chillea lake (2) Dal lake
(3) Lake Pichola {4) Wular Lake -
A R oo ol o wed s AT A o R e
(1 Prwdw 2 =@ N
(3} T 3w S @ g

25 P.T.0.
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96. Night blindness is deficiency of which of the following ?
(1} Vitamin A (2) Biotin (3) Vitamin E (4] Keratin

e e ¥ & Rowadt 0 & B 2

(1) fefm o (2 amfrs @) RefE g @ aubs
27. Which instrument is used to find the angle between two astronomical

objects ? ' o

(1) Telescope (2) Sextant {3) Cosmolabe (4) Asttolabe

%??ﬂmﬁﬂé’r@hﬁﬁaaﬁeﬂ%ﬁaﬁwwﬁ%mm
(1) vl () SR (3) HEeE (4) =R

98. Indian women chess player who ranked 3% by FIDE :

(1) Tania Sachdeva (2) RaghaviN.
{3) Koneru Humpy {4) Kulkarni Bhakti
AR afeer Raend! o o.omE. S 3. &R AR wm W R
(1) =T FageEr (2) IEET O
(3) =H® BHl | (4) FEEpoll Al
99, Which ivpe of lusion make the sailing sliip appear suspended in air ?
(1} Mirage (2) Looming
(3) Aftereffect (4] Ziegarnic effect
fre g & 99 | ApE WEs g o Ra qer & 7
(1) MR (2) g
(3) aTweT THEFT (4) SNFRH TAT
100, The mobile handset manufacture company “Xiaomi” is from which
country ? : '
(1) Indian (2) China (3] Japan (4) Korea
Hrare Tede Frfn so Rl Bea R & Ho & 7
(1) A 2 Eﬂ‘-‘{ « o (3) SIE (4) ehllT
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101. What is the name of the drug manufactured as “Super Antibiotic” ?
(1) Germicidin (2) Teixobactin
(3) Beta Lactam (4} None of these
“guy dharRE” & wq # Fiftfer wom @ W A R w7
(1) =R (2) PailieT
(3) ey dwA {4] gt & o T

_DhacﬁleﬁWMMt&mﬂ Find the missing vahe.
ﬁ%ﬂ(ﬂﬁ‘dﬂimﬂiﬂ) mmwie. :

102.16, 33, 65, 131, 261, (...

(1) 521 2 613 ;3: 721 (4) 523
103.3,7,6,5,9,3, 12, 1,15, (....) | |

(1) 3 @ -1 @B 3 4 18
104.4, - 8, 16, =32, 64, f.....-r"“ |

(1) 128 {2) - - {3) =128 (4) =192
Directions (Quest _juumhnrlﬂutnwn find out the odd man out.

P (v ﬁm 108 & 107) : FEW W)

105.7, 12, 18, 24; 26, 30

1y 7 - {2) 12 (3 17" (4) 30
106. 10, 25, 45, 54, 60, 75, 80

{1] 45 (2) 10 @17, . @Ts

107.41, 43, 47,58, 61, 71, 73, 81, X .
(1) 41 @) 4T ¥ 71 T (4) '31

1Mﬁm&ﬁﬂmet¢rslong ru:mngataapeed of 78 kmfhr If it
msmammmlmlmm,thmmmﬂlofﬂicmnml[m imeters) -

. g0t 98 g B ToPm ':E*?m?-?' cﬁ% =

(1) 180 2} 360 (3 B0 A, 340

2'? W b P.T.0.
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109. What 1s the angle of elevation of the sun (in degree), when the length
of the shadow of a tree /3 times the height of the tree, is :

Sl Ferg B HvT (At F) Fur &, o= V2 & w@Ew H avard
FaE w3 % ™

(1} 30 {2} 45 (3) &0 (4) 90
110.A 300 meter long train crosses a platform in 39 seconds while it

crosses a signal pole in 18 seconds. What is the lenghth of the platform
{in meters) ?

(1) 350 meter (2] 320 meter
(3] 650 mecter (4] Data inadequate

U 300 HiTY @& &, Uh <ITWH HI 39 AHs # QN Fdl & ofsth
T8l 91 18 s ¥ 0 e I @9 B 9% B B | Sewn
wang (AT H) @@r & 7

{1) 350 "X (2) 320 "X

(3) 650 #ET (4) offRS sTgugad

111. The angle of elevation of a ladder leaning against a wall is 60 degrees
and the foot of the ladder in 4.6 meter away from the wall. What is
the length of the ladder ?

(1) 2.3 meter (2) 9.2 meter (3) 7.8 meter (4) 4.6 meter
o da P Raers g aeht B & U FHt Sug 60 Bt ® ofiw
A 8 W W W 4.6 W W R @it & ol wmw ¥ 7

(1) 23#ex (2) 9.2¥EY (3) 7.84REx (4) 4.67ET

112. Vishal buys an old scooter for Rs. 4,700 and spends Rs. 800 on its
repairs. If he sells the scooter for Rs. 5,800, his gain percent is:

ferammer TR gRTT e 4,700 9 # GliEr & oI gEE A3Id WY
Sﬁﬁmﬁaﬁmﬁlﬂﬁ‘ﬁ@tﬁssonmﬁﬁaﬂm%fﬁ

399 e uiEeE 2o

32 60, . %
{1 =% (2) Hﬁ: (3] 10% (4) 12%
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113.1n a certain store, the pmﬁt is 320 % of the cost. If the cost increases
by 25 % but the sellmg pnce remains constant, approximately what
percentage of the selling price is the profit 7

mﬁﬁrﬁmwmm%hﬁmﬂ zs%aﬁrqﬁa
@fﬁ%ﬁﬁﬁ{hﬁﬁﬁ%m , & Hey @ ST R

(1) 70% @) 30% (@) 250% @ 100%

114. It was Sunday on Jan 1, 2006. What was the day of the week Jan 1,
2010 ?

{1) Saturday {3) TFriday (3) Wednesday (4} Suday
'1Wﬁmﬁ1ﬁmm|1mﬁ2muaﬁrmw%ﬁwﬁa

L

m m @2 TFER (3 FWW (4) TR
115.The calendar for the yesr 2007 will be the same for which of the
following year ?

af T AT P A A & waE o 7
(1) R017 2 2018 (3) 2016 (4) 1014

116, %mrbmmmmtﬂrﬁnfsﬂmmdmwnmmam } mm in diameter.
Thehﬂgth&thewiremmmum

66 g ddfies 99 § 1
it il Ul ﬁﬁﬁﬂﬁamaﬁrm@ﬁwm%lﬁﬁ
(1) 90 2y 168  (3) 336 (4) 84

117. ﬁbﬂﬂthamgah&nmamandbmdth2misﬂmmngmalake The
hnatmkubylmnwhﬂnamg:tsnntt.mfamaanfthgmanis

(1) 12%kg {91 Eﬂﬂz (3) 72kg (4} 96 kg
&‘ﬁﬂ'\l’i‘lﬁfﬁ? sﬁﬁﬁﬂt ey

t-i: i @B (3 72 P ) 96 fem

29 P.T.0.
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118. 8 men can complete a work in 8 days. 12 women can complete in 10

119,

120.There is a loss of 40 % on an article when it is sold at

days and 10 children in 24 days. 1 men, 1 women and 1 child started
tl'}E work. In how many days will the work get completed if the man
did twice the work as women and also twice the work as child ?

(1) 10 days (2) 9days (3} 12 days (4) 7 days

8 Ml U i Y 8 R A g wwa B 1 12 RS 10 R H U %
gt B ol 10 =3 24 R| # 1 ot 1 9IRT S 1 S B
o S & | Rsam R # o g HC Ren s afe et 7 o
q g e By ol = & O g we BEen v

(I) 10 fR= 2) 9 Rs 3) 12fR= 4] 7 &=

40 men can complete a work in 96 days. They all started the work,
and after 24 days 20 more men joined. some men left after further 32
days. If the remaining work now compieted in 20 days, what is the
number of men who left ?

4nmﬁﬁ%$ﬁﬂgﬁﬁﬁﬁwmﬁaﬁ%|ﬁmﬁﬁzﬁrﬂm
gree fpan, afie 24 R & & 20 TR owesdt 5w A @ T 56D
e 32 B 4% %o smfdt ¥ wrf Sy Rar ) afx = w=r e
zo?ﬁgﬁmﬂm% ot w1 BT 3 TS SEHAl B HEA
G

i) 10 (2) 16 (38) 15 ‘ (4) 12

2 ;
T the previous.

gelling price. What is the actual pmﬁt % on it ?

2 =1 L
e T a6 TN @ s 0ee B oA T R AR I R A 40%
& =Ry A ¥ 3@ AW W AERS A H AR 8 7
(1) 25% (2 30% (3] SO0% (4) 22%

10 2100
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e & fo
(5W gRAST & Fer7 FETT G OT 34T IH-07 & G yH W
dzrer Fed- wT arer- gz o7 8 8 )
v gfra (w30 i & ol @ 2w @ fis e B wofi e g § ot a
T T Y B QR g T ST RS Yo e - s S e
S % gEd fe e :
RIET e B foremr Aed yaw- 07 & wifte, @ A 9 B G gon w0
§ 7 amdl
SHY-0F 37 W faar ¢ 3@ 7 &t wig a7 8 fapw w0 g I9- o 56 B wrm
SIT INT-0T BT § qraresT (R A

4. T IFAE T IW-TF B A FH A9 WA F Pt v
S, FWT-9F & ¥ G 4T 07 § AU FAIHEE P vy or fra e A9 77 gt @

10,

It.

12.
13.
14.

et & &1 agl- A5l ArEvEw 7 q@ wew- gt w7 FAE TA G2 F AT ST v

av fered

Hto Ro ATTe X UT SgEHWIH GEWl, FyIgRaHT WA @ ¥ gew (A B §) war

TWW T Ao THo Ao T ey 1 wialEat F sofreeT &1 gt
i

UL wiafat § & ot gfiads g Rige 3o ¥t g SifEd e 98 U Agian

TG & FaiT qA A '

yvT- gfeieT & ye wew & AT Al 3uv 4 74 &1 v w & defoas v & g

T JAT-TF ) AT GR & g B2 18 39 &1 IJW-97 & yow 99 97 4Y W

frdo & argere 47 & ma & | ;

T I % I % T 99 US @ 99 N & 0F ¥ ofew o9 @ el s

R 394l T g9 B AP TR W Ig IR TG A AR

eqrT & 5 U A TG FI Al I FGOUW TE A wHaT #1 Tl AN W) 9yT F:1 I

7 & TR & 7 st vl & qe R md gt g @ el oig 51 OF we W e

o B Wt

% w1 & fo ORI TEYS & O A 7 A SR-YRE & oifen 78

& TG F

Tie § I 397 o [F SR F90-09 T e ¥ WA &

e g B3 ¥ TEQL 0N WO § A W Sl T

afe 1 syl e & e W T w2, G 9% e i fea

dz @a, af g/



